] FOR a=&BF@1 TD &BF@&7:READ v:POKE a,v:NEXT:CALL &BC®2:INK @,@:BORDER @:DEFINT a
~z:DIH a%(64,2),b%(64,2):t%=" DISC MEMO fc) G.SHORT 1891 ":i$=CHR$(2
A42)+CHE$(241)+"ENQ" :m&=" "4 CHRS$(240)+" "+CHE#(241)+" <N>OTE <Q>UIT <«<E>UN
“:PAPEE Q@:PEN 1 (30]

2 k$=STRING$(11,8):CLG 1:PEN#1,0:PAPEE#1, 1:HODE 2:INPUT"Insert Disc & Fress ENTE
R “.cd:TAG:MOVE ©,356,%,@:PRINT SPC(20)t3%SPC(20):HMOVE @, 14:PRINT" SCANNING DIREC
TORY"SPC(B1): TAGOFF:PLOT @,398, 1:DRAWE 640 ,@:PLOT @, 18:DRAWR €40 ,0:CAT:x=1:y=5:p

=}lir=0 L[01l
3 c$="":FOR f=0 TO 11:LOCATE x+f,y:CALL &BF@1:c3=c$+CHR$(PEEK(&BF®@) ) :NEXT:PRINT
k$SPC(17):IF c$<"!" THEN %x=x+20:y=5:1IF x<8! THEN 3 ELSE d=p-1:MODE 1:TAG ELS3E ¥

=y+1tIF INSTR(c®,".BAK") OR INSTR(c®,"DISCMEMO") THEN 3 ELSE b&(p, 1)=c$:p=p+1:60
TO 3 [E2)

4 PLOT @,0:DRAW ©®,398:DRAWR 638,0:DRAW 638, 16:DRAW 0, 16:MOVE ©,386,0:PRINT t$:TA
GOFF:WINDOW 2,39,3,23:WINDOWH#1,1,40,25,25:CLS#1: INPUT"Load Notes":c$:IF UPPERS(c
$)}<3"N" THEN OPENIN"discmemo,dat":WHILE NOT EOF:r=r+1:INPUTH#O,a$(r,1),a%(r,2):WE
ND:CLOSEIN [AB]

5 PLOT @, 168, 1:DRAWE G40 ,@:CLS:PRINT#1," MATCHING RECORDS":PRINT:DIM b(E4):q=1:F0Q
R f=1 TO d:p=q [AZ] _

6 IF bs(f,1)=as(p,1) THEN bs$(f,2)=a$(p,2):b(f)=1:q=p:p=r:DATA 205,96, 187,50,0, 19
1,201 £53)

7T p=p+1:1F pi{=r THEN 8 ELSE NEXT:CL3:PRINTH#1," UPDATE":FOE f=1 TO d:WHILE b&(f, 2
j="" s PRINT b$1f,1):;:INPUT" Note ",b®(f,2):c=1:WEND:NEXT:DEF FNrs(f)i=bs(f,1}+" "+
heis Zir:t=lip=1 [2B]

8 CLS:PRINTH1,m®:PEN 2:FOR f=t TO t+20:PRINT FNr#(f):NEXT:IF ¢ THEN PRINTH#1," SA
VING DATA":OPENOUT"discmeno.dat":FOR f=1 TO d:WERITEH#9,b#(f,1),b%(f 2):NEXT:CLOSE
OQUT:PRINT#Ll.m% [1F] :

89 LOCATE 13,p-t+1:FRINT CHE3(255):i#="":WHILE 1$="": i$=UPPER®( INKEY®$) :WEND:LOCAT
E 13,p-t+1:PRINT" ":i=INSTR(j®%,i$):0N i+]1 GOTO 3,10, 10:1F i=3 THEN EUN b$(p,1) E
LSE IF i=4 THEN LOCATE 14,p-t+1:PRINT SPC(22)k%ks$;:INPUT"",b%(p,2):c=1:G0OTO 8 EL
SE PEN 1:END [931]

1@ IF i=1 THEN p=p-1:1F p<1 THEN p=1:GOTQ 9 ELSE IF p<t THEN t=t-1:LOCATE 1, 1:FR
INT CHE$(11)FNr$(t):G0TQO 9 ELSE 9 ELSE p=p+1:1F p>d THEN p=d:GOTO 9 ELSE IF pit+
2@ THEN +=t+1!:LOCATE 1,21:PRINT:PRINT FNrs(p):GOTO 9 ELSE 9 L[F1]



